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There are 150 objective multiple choice questions in this paper. This Question Bdoklet is made up of the following
five scctions : Section-I, II, III, IV & V of 30-30 questions each. The candidatéshas to attempt all sections. Each
question is of one mark. There is no negative marking for wrong answer,

T U H F 150 TS AFHIAHF WA €| 90 gl uid @vel A i & aen /vt mve s afed
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PAPER CODE : L12011
Total questions : 150 Time period : 90 mmnutes Maximum Marks : 150
“Vovof Question Nos. Page Nos.
Section Contents "'gh'ltionl From To From To
(1) Child Development and Pedagogy 30 1 30 3 10
(1) Language I (Only One Language) 30 31 60

As selected by the candidate as msdinfa of
instruction in the Online Application Eormwerom the
Languages given below :

Hindi 30 31 60 11 14
English 30 31 60 15 18
Sanskrit 30 31 60 19 22
Urdu 30 31 60 23 26
Sindhi 30 31 60 27 30
Punjabi 30 31 60 31 34
Gujarati 30 31 60 35 38
(1) Language II (Only One Language) 30 61 90

As selected by the candidate as Language-ll { other
than the Language-l ) in the Online Application
Form from the Languages given below :

Hindi 30 61 90 39 42

English 30 61 90 43 46

Sanskrit 30 61 90 47 50

Urdu 30 61 90 51 54

Sindhi 30 61 90 55 58

Punjabi 30 61 920 59 62

Gujarati 30 61 90 63 66

(V) Mathematics 30 91 120 67 78
V) Environmental Studies 30 121 150 79 90

Note : In Sections 1l and 11}, a candidate has to attempt the questions of Languages compulsorily, as selected Language - [ and
Language - [l in the Online Application Form. For Hindi version of the above Table & Note refer to Page No. 2
| Read the instructions in English & Hindi at Page No. 96, last page of this booklet, |
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Al
h 0 SECTION - I
ol L1- Psye -
_
CHILD DEVELOPMENT AND PEDAGOGY
arer faerma wa foramomea
There are 30 questions in all in this section.

All questions are compulsory.

WETE HFE 30THE |

At 7oA e & )
1. ‘Toy age’ refers to
\/aq)}gea:ly childhood (B) Latg childhood
(C) Babyhood (D) all orthese,
‘et =1 o' F1 ST ¥
(A) vd e H (B) I SredE] ®
(©) ST H D) T A\
2.  Which of the following i1s not a charactéristic of early childhood ?
(A) Pre-gang age D) Imitative age
(C)  Questioning age \_{D¥— Play age.
e § F F-d g arcaraen S 11§ 2
(A) T@/ 9E H WA F ooAEe (B)  STIHIV A FI raee
(C) WA FHIA HI AT (D) @ I e |
3. In late childhood period~children understand the conversion of which physical
entity(ies) ?
(A) Mass (B) Mass and number
(C) Numbe Mass, number and area.
I AT | e o ol ¥ R onavas 9w § ey e o € 2
) FEEH (B v H i den
© wen (D) w=HM, e i e |

4.  The meaning of development is
(a) progressive series of changes
(B] progressive series of changes as a result of motivation
progressive series of changes as a result of motivation and experience
(D) series of changes as a result of maturation and experience.
Terepre 1 a1 ¥
(A)  ufEdH w7 IWIR SEen
(B) i & Ferawy B9 e ufigdHl w1 S e
(C) PN TE VA F Ferrawy B At GEdAl F Sw gEen
(D) R9eadl Ud 3THE % Werawy g arel el & S@en |
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L-1 1 A |
5.  Which of the following statements is not correct about development ? .
(A)  Each phase of the development has hazards
(B) Development is not aided by stimulatton
(C) Development is affected by cultural changes
(D) Each phase of the development has characteristic behaviour.
fEmF Al A A A A g-w Fr ag @ ¥ 2
(&) fowm #t v dawn F o9 T €
(B) o=@ AN / TgmE & W A B
€ o st wiEd @ gt g §
) Tawm #f yoid ae st o fasand g §
6.  Which of the following development tasks is not appropriate to the late childhood ?
(&) Learning physical skills necessary for ordinary gamies
-(B) Achieving a masculine or feminine social rore
{C)  Achieving personal independence
(D) Learning to get along with age-mafes.
e § A -1 fawraers S IW aeaEe & 39w 6§ 2
() HEE e ¥ T aravas i SeEnd @i
B yEifen = fefa amfas sfamst 5t wm w0
() Safws sreafasi wm wen
(D) @177 THIW ATl FEy @A HrE |
7. Training in advarice'of normal maturation is generally
{A)  highly beneficial with respect to performance of the common skills
(B) harmful from an overall point of view
{C) beneficial from a long range point of view
\_[.D'J/ beneficial or harmful depending on the method used in training.
| A | wee ifem ey
@) wE Fe  free & g § wga e o #
(B) T faen I TR €t &
(© s g @ e g

(D) TNHFH B A TFERH, 98 38 W R s ¥ fr ufvem o few wewr 51 fafa = w@m
femmm ¥ |
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8. Five year old Raju 1s watching a storm from his window. A huge bolt of lightning is
followed by a tremendous thunderclap and Raju jumps at the noise. This happens
several more times. There is a brief lull and another lightning bolt. Raju jumps in
response to bolt. Jumping of Raju is an example of learning theory of

Classical conditioning (B) Operant conditioning
(©) Trial and Error (D) None of these.
wrg T 1 TS A fEgE F A qEE FT fEm ¥ | fawelt gued @ sl wEe w1 e
It ® | U9 TR TF H IS § | IR-GR T A 21§ ) fiR %9 3 wife % ovem fased
f}mﬁ% | T farsrett &1 T g ST § | U9 F e Han & fre faera & samm
(A) T S B) foramgy sqaE
© v (D) &7 YRR |
9.  Which of the following is an example of positive punishnient ?
" Redicule by friends (B)  Loss of time with friends
(C) Ceaé-e nagging ®) All of these.
HHEACHF 0E 1 7 § HIF-91 32w B
(8) il ¥ g swE ® ol & Wy gna w19
() g FeEe @ s D) T &8t

10. Which of the following statemerits is not appropriate to motivation as a process ?
(A) It causes a person to move towards a goal
(B) It satisfies the person’s biological needs
(C) It helps in achieving a psychological ambition
\_Ql/lt keeps away irom an unpleasant situation.
= A ¥ Fh-wr e ST T T F g § 3uge w6 ¥ ?
(A)  IT = 91 a8 F R o I
(B) 48 Alw =t TKINF evasmasii = dgfE = €
(C) TE WAfTeR SR HY WH WA H Herddl I g
D) ¥ =fFw A fefigaant |
11. The temporary change in behaviour due to continuous exposure to stimuli is called

A~ Habituation (B) Learning
(C) Temporary learning (D)  Motivation.
fordll 3 & e 3 9 @ =aer ¥ o1 an sRarl ofteda seam €
(A) ST B
(C) oTemt Afem (D) efwaTom
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L1 6 [a]
12, The teachers should not use which of the following ways to change the attitudes of
students ?
Coercive persuasion
(B) Repetition of idea or assertion
{C) Endorsement by an admired person
(D) Association of the message with a good feeling.
farenfef=t =6t sxfvgfaat & wftad & fau fa= 3 @ form fafu &1 w@m srerges = 727 &0 =fgw ?
() TEE g fFd am o fa=m & o st w5
(B) Tt faum +1 <ot sgar geargES SEER
(© fwdt wina =afs % g/ waea wd @hsfd
(D) w9 &% =y ewd T FE )
13. Which of the following statements regarding achievement motive is true ?
(A)  Achievement motive is necessary for survival
(B) If the satisfaction of personal potentialities 1s_empnasized, the achievement
motive may be classified as a growth mouve
(C) If the stress is on competition among people, the achtevement motive can be
considered a social motive
All of these,
Syafer s1fydesr & Ty ¥ e 0 | Fn-m e met ® 2
(A) SuEfe sfibtes sifam = & o amEvrs #
(B) A =fETa swme 1 g<iE Teayyl © @ It R #1 fawr SR w1 wEa §
(€ afz =afwdl F 7 wfadlia @ o €, a1 SYArey ARDHE & \mias AT Fe o

Tl &
D) T |
14, During 6 to 10 years ¢hildren start taking interest in
{A)  Religion (B)  Human body

© Sex \_(D" School.

68 10 9d I argEen ¥ aeis w9 o1 WY w §
(A v (8) WM TR H
(C) st (D) fammem A
15. Which theory believes that human mind is like an iceberg mostly hidden and has three
levels of consciousness ?
(8)  Trait theory (B) Type theory
U;A:choanalyﬂcal theory (D)  Behaviourist theory.
i fagr =6 o 2 T avg ofass 1 % #1958t w2A & wam € W i sfusive: fodt
et & ud 3EH oo & I '/ E ?
@A) T fEg (B W= fagm=
() wRfagerToTerE faer (D) =EeErER fagm o

LN [101]

This paper is downloaded from www.rsnotes.com

New Section 1 Page 5



Previous Papers, Old Papers, Sample Papers, Mock Test, Online Papers, Online Test, of HTET, RTET, REET, PSTET, UPTET, KTET, HPTET, GTET, TLTET,

[a] 7 L1

16. Some people say that whenever anger draws upon children, they go to play. Until they
feel better which of the defence mechanisms is represented by this behaviour ?
(&)  Projection e Displacement
(C)] Reaction formation (D) Sublimation,
FB w1 wEA € fF w9 aerl I S € @ 3 ger & fou ve o) € | 9 9 B ved
| 701 HeqH TE #, ST Haer § = F ¥ = wfawn o7 wfiatia g ?

@) wET ® - forermm
(© wfafswar fafo (D) Serf= 1
17. Adjustment means accommodating oneself to various circumstances in order to satisfy
(A)  others (B) motives
(C) goals \UBY~ needs.
HARIeH § W e @ fafve TRl § smen s & o e e s ws
@ T B I
© =EEiH (D) STEvEE@E @) |
18. Which of the following behaviours is not a manifestation of emotional disturbance ?
(A) Delinquency B Bullying nature
(C) Truancy \[D}—"Autism.
et § A FR-W1 FER TEAEE T S T we E ?
(A) = T (B wHERT w1 TIA Al
© i (D) e |
19. A provision for education fer thé children with disabilities can be done through
Inclusive education (B) Mainstreaming
(C) Integration (D)  None of these.
Fri9rer aerent =1 fnd % fe wawe R @ g ¥
() uefiE foarem (B) = 4 ¥ e
(C) TEEHE 3 (D) T A ®E T

20. Which of the following is not a characteristic of mental retardation ?

(A)  1.Q. between 25 to 70
(B] Learning in a slow pace and unable to do the activities of daily routine
(C)  Poor adaptation with the environment

\_/(D)/ Poor interpersonal relations.
o # | -4 AT T g @t ¥ 2

() FfE @ w1 259 70 % AeA B
® o vfa | g v i s w5 sl w9 %
(C) aEERY F WY Ao § e
D) Tadafhs gyl %1 FHAR 8 |

(LA [101] [ P.T.O.

This paper is downloaded from www.rsnotes.com

New Section 1 Page 6



Previous Papers, Old Papers, Sample Papers, Mock Test, Online Papers, Online Test, of HTET, RTET, REET, PSTET, UPTET, KTET, HPTET, GTET, TLTET,

L-1 8 ' [A]
21. Which of the following is more important for keeping the good mental health of
students ?

(A)  Proviston for curricular activities
(B) Freedom of expression
(C)  Variety of interests
\})]/I-‘eacher’s role and school environment.
forenfefat & s wAfEe w@reer &1 a9 e F e fo 1 | Sim-m gl st e # 2
() e frmell =1 wEum
B afv=fs i w=a
(© et =t fuma
(D) AT =t yfoe e faamer awE
22. ‘Child belonging to weaker section’ means
(A) A child belonging to such parents whose dnnual income is low
(B) A child belonging to such parents wno'come undaer the disadvantaged group

(C) A child belonging to such parents who¢ome under the category of below poverty
line

\JD)/A child belonging to such parents whose annual income is lower than the
minimum limit specifiea:py whe appropriate government.

‘e o & aes | arerd ®

(a) T AREET F T G Tt afts o & §

B) H AR &I | W dfga o F o €

(€ T afysiasl F s S e @ S AR e §

(D) & srfysaei & Al ¥ S TR g i =grem d@m w6t e s At @ d A=
T H am ¥ )

23. The Right to Education Act, 2009 specifies that if the number of children admitted for
first class to fifth class is above two hundred then the pupil-teacher ratto required is

(A)  thirty \UBr forty

{C) forty-five (D) fifty.

foren =1 sAfusR sfufrm, 2009 o Fide fFar T € for #am- 1 | wan-5 9% A W@ A ™
orenfef=if =t den < €t @ stfi €, < foeneff-swame sravEs sEaE A

@w (B) =™
(c) Harefd (D) T=E |
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This paper is downloaded from www.rsnotes.com

New Section 1 Page 7



Previous Papers, Old Papers, Sample Papers, Mock Test, Online Papers, Online Test, of HTET, RTET, REET, PSTET, UPTET, KTET, HPTET, GTET, TLTET,

[A] 9 L-1

24. Which of the following statements is incorrect about action research ?

(A) It is conducted by teachers and educational professionals

(B) It is conducted to solve a specific problem

It is conducted to provide information for decision making at a broader level

(D) It is conducted to focus on the solutions of day to day problems at local level.

forareae o E= & W o f7 3 9 F- FE wE T § 2

(a) T TS wE e wrEEE | 92 vl % g faar o @

(B) T Tl Tafre gown % waum % foaq foar wmr &

(© =vF 'R foE & % fou ge dees = wd wd fea s

(D) TrE &R I &) aoens & gmuF & fod e dqeum feo s )
25. Which of the following statements is not true about teaching?

(A)  Teaching is modifiable (B) Teaching is tormal and informal
(C) Teaching is a science as well as art' Teaching is instruction.

= 8§ F-w o e & R d weg A€ # 2

@) foao F g few o wwa § B e sioafis w@ st @

() e fomm & Wy-wY & ot ¥ (D) foEw @A T |

26. The National Curriculum Framewerk; 2005 under the heading 'quality dimension' gives
more importance to

(A)  Physical resources
(B) Qualified and Motivatea teachers _
{C) Experiences designed for the child in terms of knowledge
Experiences designed for the child and curriculum reform.
TEH W=l w9vEl, 2005 # uE HEm' s & st sifus aea fem T #
&) it gEnE =
B) fofem e sfinfa sramw =
(C) =l & fau 3F & "o § w@tfom srgvat &1
(D) = F fAC To@ W T ToUHE guR W |
27. The National Curriculum Framework, 2005 suggests which of the following
examination reforms ?
\_lAl/flass X examination optional
(B) State level exams to be conducted at different stages of school education
(C) Competitive entrance examinations optional
(D) Al of these.

W [ P.T.0.
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L-1 10 A
TET At e, 2005 # e # 3 fER wlen vl guni @ a2
@A) FE-X F v e _
(B) femnerdt fnan =1 fafim sraweneii W U9 TR F1 Wi d=em
(C) wiaanft vaw whansi # s
(D} T F @
28. Reducing stress and enhancing success in examination necessitates
- (&) A shift towards shorter examination
(B) Examinations to be conducted at different stages of school education
(C)  Annual and half yearly exams
(D) Setting up of different agencies for conducting entrance exams.
2aE F1 w9 F14 wd wanedf 1 wwea ¥ fau srayes #
() wFH Aty w wee ¥ A
|®) faenerEt foan =1 fafis =l 4 wdansii =1 smaa
© =t wd srgafis wier
D) fufim vEw wenst ¥ fou fafim wofeal st |
29. The purpose of evaluation is
(a) to label children as slow learner ana gutea cmldren
(B) toidentify children who'need remediation
(C) to diagnose learning difficulties and problem areas

(D) to provide feedback.on the extent to which we have been successful in imparting
education for a proauctive life.

A I B

(&) arerei ® A afa | dien e vd wfaammel el F w9 § dd w3

(B) 5 wTerel ! ITERIHE e it AEESd €, TR TwEE S

() frm =t Ffargat 9 wHEn 9 8 &1 g S

DY S e S 3 forg foen R o a AR w2, % 9 wem we |

30. For primary school children, which of the following is better ?

(A)  Video simulation (B) Demonstrations
\p/ Hands-on-experiences (D} All of these.

wufis faemerdl & el & fog fre # @ dem o ¥ 2

@ T s ® v

(©) =4 % gr foFan T agWe o wEaw

LRRLLERL 101

This paper is downloaded from www.rsnotes.com

New Section 1 Page 9



Previous Papers, Old Papers, Sample Papers, Mock Test, Online Papers, Online Test, of HTET, RTET, REET, PSTET, UPTET, KTET, HPTET, GTET, TLTET,

. Qoll- Hindi- T- Level 1REET

Y 1 1
wWUg - I
HMET - I
THEEHFA 30THE |
[t we wifard §
31. ‘fauem w=d %
L | i
(©) fomiwfa (D) =78 & T
32. 'wEA’ = = wfu-fa=ee g
@A) T B J9d + 31

Lg,th»eaﬁ D) WA
33. et Haemem @

VNI 2 B a

© dm (D)  eEfEA |
34. '@’ %1 9ga=d g |

W e ® s
© s \JPr Tga= T @
35. o vl & wAm & siqun #1E ufada 7 g & 3wl o ¥
() 4 B faFd =
{}/aﬂf&mﬁ e (D) weEY |
36. = ¥ Wl ®Y & 999 F9Q
@ e B fafcom
€ gvm lp/qmn [
(IR 101 ] ( P.T..
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L-1 12 A
37. ‘=fa’ =1 whfEm w9 g
B wfa
er” watwh ()  waEt
38. H%Fd & 9 = W fe=<dt F fomn ot ufted= & e ¥R ¥, wEem ¥
@) wEHd (B wEd

QT D) 29
39. w4 fret wwE # SH wieg wuF B o S FEd §

U\\_J/S’Em B fora

© WM T (D) TS TR )
40, YE = R

@A) IowEd B &

© SVEd 2 I )

41. '&qE’ w1 faeim v 2

T g

© f= HEw |
42, FAdAfFa o dofiy= am & 2
\_/w/wﬁn, we, v, A (B) @M, 94, Hrgl, FRR
© &g, forae, T, 9 D) Fgy, =, el w5

43. fFa o= o 'g sygd T & ?

@ T L T
© Fwd (D) F=E |
44. '3 9 & W@ fRE e d gan € 2

R e |

) fa= (D) HE I
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LA 13 L-1
45. fogd veen w2 demarEs @ ¢ s fR wye fm w1 Ay w0 3 g §

(A)  FHYRE FEE (B 5% HUH

(C) wToEE guE Ly~ fam wE |

46. 5E HIE €
L B  siug

ey el (D) ¥EOmE |

47. ‘TR TeA 9en’ #1 Fwel o §

A wEd \)a]/‘-n'n'{

(€) FmEY (D)
48, wiffaree g 78 &
@w dE (B effer
© et M T |
49. = 4 4 fra aea | H@yem w0 € 2
(&) W RYA G aEd @ (B MW WEHE @R
uo)/mﬁﬁzi-ﬁaﬁmaﬁq D) frem dem §
50. ‘9% w@a: § 9§ wom' ° ‘ag N mEaam _
(A gEvErEE gE ‘)Bo/ﬁamwmq
(C) e, T (D)  AHT=TEEF HEAH
51. H9F fFT F1 e A a7 ?
(A) T S T (B)  Hrm g R
\_/ce)/qq?ﬁff‘a‘ammam (D) == |
52. ‘®E’ @ ‘EeRe’ g Y wed € 2
A S EE

B) foas s Wem @ 7z § @ Wi
() forud = F4 AR a7 fwrand 2
yﬁrﬁ@m,wﬁ&u En cRiRe Kol
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L1 14 l
53. 'HiEA SR W ¥ W 9 § 3wy

| @ @i

€ HE (D) 9= |
54. fr# @ fafsm ama ®

@ = EEwE ® ¥ vga § i w9 Gowm ¥

© wiR g (pr FgmE A
55. fordl % &A1 350 #0099y 5 o fag s v fpm s & 2

W T e (B~ S0 41 SR

© yvEEE A D) frwFrEs
56. @l fowm fagt amen a7 #

\yaﬁwmmg,aﬁ%? B 'TTEamamt 1w ?

© ST SR, w0 D) T, A e g, W e |
57. ‘¥R W ¥@ T ....' TE A4 feE Hprel 9 qof g ?

@ Hamd sERE W TEe T ® ¥ @ =g 8 3a

© i e far wosar e L,ua/i?{mquwl
58. wél qEEw #

(&) = H gt e (B) @@ § i@ e

oy st & ya g (D) oftdl # w=m e |
59. '®1Y 7 A’ @ GeEt w1 Fean 74 §

A e # 7 e B) wgd a1 A

© =l W = w5 (D) & Her |
60. ‘f fm s’ =1 i

(&) EERT A S L/(B)/mﬁm

© ®EE S (D) Y g @I T |
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Lexe| 4- Soll- Er\glish—I’ REE

2y

31.

32.

33.

34.

35.

15 L-1

SECTION - IT
LANGUAGE I
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Choose the correct order of words :

Do you live where ? {B) Do live you where ?
L[Q/W'here do you live ? (D)  Where you live.do ?
Which of the following has a correct sentence pattern ?
w}/l.-le gave her a book. (B) He gave.a book her.
(C) He her gave a book. (D)  He a'book gave her.

Complete the following sentence with the correct option :
The sky suddenly became ............c.oovvvvne

{A) darkly \/ dark
(C) darkness (D) darken.
‘Which one of the following words 1s 4 noun ?

A) Write (B) Wrote
(C) Written \}}P— Writer.
Supply the correct pronoun :

Arun and Lata‘have a house. ..........coooeeineninn. house is quite big,.

\ A Their (B  His

36.

37.

(C) Her (D) Theirs.
Pick out the verb from the following :

L@J/Create (B) Creation
{C) Creator (D)  Creativity.

Select the correct verb form :

Sachin has ..................... many records.
(A) brokened \@l/bmken
[C) broke (D) breakened

ULRLERL [101] [ P.T.O.
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L1 16 [A]
38. Fill in the correct form of the verb :

The train had left before I ..................... the station.
Meached (Bl  had reached
(C} was reach (D) was reached.

39. Complete the following sentence :
IFWe ovivineeininniannns a lottery, we will buy a car.
(A  will win (B) have won

[C) won LDy win

40. Supply an appropriate determiner :

Thave ....ccooveviiinnnnnnnns glass of milk every morning.

(A)  the UB)/ a

© any (D) rsome.
41. Supply an appropriate determiner :

My neighbour is ..........coeeevinnnnn honesgperson.

@ a L& an

[C) the (D)  any.

42. Which one of the followlng senteénces expresses ‘possibility’ ?
There are dark clouds in theSKy. ......coovvveiiviinnnnnn .

(&) It will rain (B It shall rain
{C—"Tt may rain (D) It must rain.

43. Pick out the sentence which has the meaning as the following :
No other antmal is as brave as the tiger.
(A)  The tiger is a brave animal
(B) The tiger 1s as brave as any other animal
Lp/ The tiger is the bravest of all animals
(D)  No animal, except the tiger, 1s brave.
44. Complete the following sentence with the correct form of adjective :

Anupam i8S ......eeeneiiinnnnnn boy in the whole of the class.
A the tallest (B)  the taller
(C) the most tall (D) the more tall.

(LRLELL [101]

This paper is downloaded from www.rsnotes.com

New Section 1 Page 15



Previous Papers, Old Papers, Sample Papers, Mock Test, Online Papers, Online Test, of HTET, RTET, REET, PSTET, UPTET, KTET, HPTET, GTET, TLTET,

'i[ 17 L-1

45. Pick out the sentence which has the same meaning as the following :
The last question was the most difficult question.
[A)  The questions were very difficult.
V(-B)/. The last question was more difficult than any other question.
(C) Some questions were very difficult.
(D) Only the last question was very difficult.
46. The father said to his daughter, "When will you return ?"
In Reported Speech the above sentence will be :
The father asked his daughter
(A)  when she would return ? (B} when would she return ?
(C) when she will return. \.,(:81/-when she would return.
47. The teacher said to the students, “Be polite in your-speech.”
In Reported Speech the above sentence wili ne
The teacher asked the students
\,W/ to be polite in their speech (B)  that be polite in their speech.
[C) to be polite in your speech (D) that be polite in your speech.
48. My neighbour said to me, “Lamn going out for a few days”.
In Reported speech the apove sentence will be :
My neighbour told me that

M’vas going out for a few days. (B he is going out for a few days.
(C) he will go out for a few days. (D)  we are going out for a few days.

49, The word ‘magnificent’ is similar in meaning to
(A)]  very large Maﬂd
(C) huge (D) royal.
50. The word ‘bliss’ has a meaning similar to

Mpﬁness (B) anger

(C) darkness (D) innocence.
51. The opposite of 'similar’ is
(A)  unsimilar (B) insimilar

different (D) near.

(LT [ PT.O.
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52. The word ‘approve’ is opposite in meaning to

(A)  confirm UBFr reject

([C) accept (D}  return.

53. Pick out the word which is spelt correctly :
(&)  sinceerly (B sincierly
(C) sincerly M sincerely.
54. Which of the following words has correct spelling ?
(A)  knowlege \z('B]/_ knowledge

(C) knowlidge (D) knowlige.
55. Which one of the following words begins ( underlined ) with a different sound ?
(a)  kite (B) cool

© chemistry P @ity

56. Point out the word which ends in a sound [ uriderlined ) different from that in other
words :

() who B) flew

L slow (D  shge.

57. Identify the word in which the'middle sound ( underlined ) is different from that in
other words :

A) seen hit
(C) heat (D)  brief.
58. Which one of«th¢“following words has a different sound ( underlined ) at the
beginning ?
sure (B) cell
) sell . (D) psychology.
59. Point out the word which has a different sound ( underlined ) at the end :
(A)  laugh (B)  graph

o high ()  balf.

60. In which one of the following words do the letters ‘th’ have a different sound
{ underlined ) ?

)  this (B)  that

(C) there \Jp)/.mm
(TR 101 |
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SECTION - III
LANGUAGE II
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

61. Which one of the following words is an adjective ?
(A)  Use B—U seful
(C) Using (D) Usefulness.
62. Complete the foliowing sentence with the correct option :
My grandfather walks very ..........cccoooevvinen
(A)  quick B) fastlv
L{C]/{ast (D) ‘"mice.
63. Which one of the following has a correct senternce pattern ?
JAF” She put all the books on the table. (B She all the books on the table put.
(C) She put on the table all the books. (D) She on the table put all the books.

64. Choose the correct pronoun to cormriplete the following :

This book is ..................... ,Jand that one is mine.
[A)  our book (B) your
\CL~"yours (D)  yours book.

65. Choose the correct word order :

(A)  Why she did leave so early ? \/IB!/\Vhy did she leave so early ?
(C} Why did so early she leave ? D) Why so early did she leave ?

66. Pick out the correct sentence :
{A) There are shop near my house. (B)  There is shops near my house.
(C) There are a shop near my house. W There is a shop near my house.

67. Select the correct form of the verb :

1] o the right answer.
AT knows B  know
(C} is knowing (D) known.

(LT | P.T.0.
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68. Fill in the correct form of the verb :

When the phone rang, we ............oeeeeeeann, television.
(A) watched (B) are watching
(C)  were watch (LD~ were watching.

69. If Radhika had received an invitation, she would have gone to the party.
The above sentence tells us that Radhika
i did not receive the invitation (Bl  had received the invitation
[C} is waiting for the invitation (D)  did not want to go to the party.
70. Fill in the appropriate determiner :
The ring is made of ..................... gold.
(A) the (B) a

\_/(e]/x ( no determiner ) (D) ( any.

71. Complete the sentence by putting an appropfiate determiner :

You should always carry ........o.coeeivnnns umbrella with you.
@ a \‘/w/‘an
(C) any (D} a few.

72. Manjit said to Anisha, “Could you please open the window ?"
In the above sentence Manjitis
(A)  asking a question (B) giving an lhstmction
[C) offering adwce \_/(ISK_ making a request.
73. No other member in the family is as intelligent as Raju is.
The above sentence has the same meaning as
(A)  Raju is intelligenter than any other member in the family
(B} Raju is not intelligent
\_/(er' Raju is more intelligent than any other member in the family
(D) Other members in the family are not intelligent.
74. Complete the following sentence with the correct form of the adjective :

It Was .....coeevviiiivrsnnnennnnn... car he had ever driven.
(A) the more comfortable \_J,B-}/the most comfortable
[C) the comfortable (D) the comfortablest.

(URLLARL
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75. Choose the sentence which has the same meaning as the following sentence :
Mahim got a higher grade than any other student in the class.
(A)  Mahim got the higher grade than any other student in the class
(B} Mahim got a high grade than any other student in the class
\/ua/' Mahim got the highest grade in the class
(D) Mahim got the high most grade in the class.
76. Mohan said to Savita, “Can 1 borrow your book for a day ?"
In Reported Speech the above sentence will be
Mohan asked Savita
\ A" 1f he could borrow her book for a day
(B) if they could borrow her book for a day
[C) that could he borrow her book for a day
(D) if that he could borrow her book for a day
77. She said to her brother, “Do not buy mangoes,”
In Reported Speech the above sentenceé will be
She asked her brother
(A)  to not buy mangoes \./('B(- not to buy mangoes
(C) do not buy mangoes (D)  do not to buy mangoes.
78. The students said, “We'want to learn a foreign language.”
In Reported Speech the above sentence will be
The students said. that
{A)  they want to learn a foreign language
Mhey wanted to learn a foreign language
(C) we want to learn a foreign language
(D) we wanted to learn a foreign language.
79. The word 'courteous’ is similar in meaning to
(A} related to a court (B)  impolite
Mﬁte (D)  kind.
80. Which word has a meaning similar to ‘significant’ ?
(A)  prominent (B)  magnificent

(C) efficient Ynﬂponant.
(L] [101] [ P.T.O,
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81. The opposite of the word "optimistic’ is
MImisttc (B)  hopeful
(C) ideal (D) dull,
82. The word ‘innocent’ is opposite in meaning to that of
(A} clever B) ignorant
(C) active \_(D)/guu .
83. Pick out the word with the correct spelling :
(&) varaity (B)  varietey
(C)  varieti \_Pr variety.
84. Which one of the following has the correct spelling ?
(A} impresive B) impréscive
\ |G Tinpressive (D)  impressiv.
85. Point out the word which begins with a different sound ( underlined ) :
(&)  house (B ’'home
Gy honour D hen.
86. Which one of the following words ends iri'a different sound ( underlined ) ?
ety B) sky
(€ by (D)  try.
87. Identify the word which has a different sound [ underlined ) .in the middle :
{A) oot (B)  should
©  wood P Tood.

88. In which one of the following words does the letter ‘1" have a different sound
( underlined ) ?

@) finish B final

© fit (D)  film.

89. Pick out the word in which the letters ‘ch’ have a different sound ( underlined ) :

(A)  check (B)  chess

[C]/;hemical D) chairman.
90. Which letter of the word '‘comb’ is not spoken ?

A) c (B) o

(© m M
LT 101
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L1 50
83. ''#ftyw T’ T@A WEEIE T
(A TS B) EfE:
U.e/xﬁﬁ D) AT
84. '=EmrEt:’ Tewrd faue: woME:
@) e e T B = et ue
© ==: 9@t afed |: (D) == I g9 |
85. ‘T + ' THA WHgYH WE wafd

E

(A) (B)

\464?!: D) =R

86. 'weAaY' TR wfawed @t ?

iy T S @ e s

(C) W + Fag (D 99+ qY |
87. ' + T FAgwE fF 2

@ AfEe B) e

Aer T D) T

88. ‘'‘3ftx % TM Tm ¥’ S WEHAHAR: FOE: —

() = T B e TE s
ey sfm = (D) w2 <@ |
89. ‘fum {3 & Wiy T’ FEm WepAaR: FA: —
() fom P wE s \_ABTfum g3 WE snre
(€ T gF=r | snrse (D) o QW HE sTewar |
90. 'HU W Ty §' e HEpara: fatm: —
8y T A T (B) € 7 T
(C) HH AW T: (D) W9 =W: T |
I
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LEVEL-1-Roll-MATHS - 2-REET

fa] 67 L1

Section - IV / @i - IV

—fAmnics /e )

There are 30 questions in all in this section.

All questions are compulsory.
WEE A 309§ |
it weT s ¥

91. Write the following four numbers in descending order :

1. 4203567

II. 4203657

M. 4203756

IV. 4203675
W LIL LIV (B LIV, L 1
€ LI, (D) 1L 1L IV, L
ffefas =r ens |1 e Fa8wE

. 4203567

II. 4203657

. 4203756

Iv. 4203675
A LI, L v () OIL IV, If, I
@ LI, IV, 11 (D) I I, IV, L

92. One crore is equal to

L/uaa/‘ 100 lacs (B) 1000 lacs

{C) 10 lacs (D) 100 thousands.
T&F Hilg a0 §
@) 100@@ F () 1000¥ @ %
() 109@% (D) 100T W F |
T | 101] - [ PT.O.
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L1 68 [A]

93. The number 5 crores 9 lacs 4 thousands 9 hundred eighty-eight in numerals can be

written as

(A} 59004988 (B) 590400988
(C) 509049088 \}1/50904988.
& 5HUZ 9@ 4 TR 9| St Hi el # fomA W oy da
(A} 59004988 (B) 590400988
(C) 509049088 (D) 50904988

94. The population of a village is 78692. Out of which 29642 are men and 28167 are

women and the remaining are children. Then the number of children is
\_/H)/EOSSS (H) 7 21883
(C) 20893 iD) 20783.

TF A F Ha TEE 78692 ¥ | ¥ § 29642 [6u ¥, 28167 WEad Fawm WA= ¥ 1@

o= % HEem ¥
A) 20883 (B) 21883
(C) 20893 D) 20783.

95. If we divide zero by 60. then the dividend, divisor, quotient and remainder are

respectively
\,m/-o. 60. 0. 0 B 60.0. 1.0
{C) 0,60, 0,1 (D) 60, 0, 0, 1.

T H 60 F YT 3 W WG, W9, IR T $owd A ¥
(A 0,60.0,0 (8 60,010

) 0.60.0 1 (D) 60.0.0, 1.
UL 101
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[a] 69 L1

96. The value of 15 coins of 25 paise each is equal to

L. 3 coins of one rupee + 1 coin of 50 paise + 1 coin of 25 palse
I1. 2 coins of one rupee + 3 coins of 50 paise + 1 coin of 25 paise
III. 3 coins of one rupee + 3 coins of 25 paise
IV. 3 coins of one rupee + 2 coins of 25 paise.

In the above four, the wrong statement is

A I (B) 1

© ol v

25 F 15 foaml & 7@ 70 ¥
I. T&H%oF 3 faeFr + 50 %0 =1 | 991+ 25 10 %1 U= faaam
II. &% ¥ 2feas + 5098 & 3Taed + 25 49 %1 ww fagm
II. T& %o ¥ 3faeF + 2590 & 3o
IV. TF%e ¥ 3fger + 2540 F 2fqss

I 97 H A e wo ¥
@ 1 (B) 1)
@ n (D) IV.
97. The arrangement of the fractions g. g. é % in ascending order is
P 5 38 ® 1333
fot 2.5 1% s t
MERNN
(LN 101 [ P.T.0.

This paper is downloaded from www.rsnotes.com

New Section 1 Page 36



Previous Papers, Old Papers, Sample Papers, Mock Test, Online Papers, Online Test, of HTET, RTET, REET, PSTET, UPTET, KTET, HPTET, GTET, TLTET,

L1 70 E

98. If the cost of 5 pencils is 3% rupees then the cost of 2 pencils is

{A)  Re. % l/(‘BJ/-Rs‘ %

© Rs. 3 D) Re 2.

7t 5 ¥fwel 1 qea 32 %o ¥, @t 2 Ifwal @1 qe @

W 2w B 3w

© & O 3w
99. Which of the following statements is true ?

‘y/l is not a prime number ‘B). 'l is a prime number

(C) 1 is a composite number D) 2 is not a prime number,

A A FA-TFH wE § 2

@) 13 Tem T # B 13 gem

(€} 1%gs qEAd (D) 23 e e ¥
100. The prime factors of the number 720 are

A) 2x2x3x3x2x5 (B} 2x3x4x5x6

[C) 3x3x4x4x5 \/{2x2x2x2x3x3x5.

& 720 F AT UGS §
(a) 2x2x3x3x2x5 B) 2x3x4xbHx6

) 3x3x4x4xb (D) 2x2x2x2x3x3x5,

(LT |101]
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@ 7 L1

101. What is the highest common factor ( HCF ) of the numbers 425 and 476 ?

A 4 (B} 5
L)Q)/l- 7 (D) 51.

FEmsll 425 99 476 F HEWH WSS ( Ho TWo To) ¥
@ 4 (Bl 5
(&) 17 (D) 51.

102. What is the least common multiple { LCM ) of the numbérs, 90, 60, 75 and 35 ?
W 2700 LB 6300
(C) 4250 (D) 2750.
FEMS 90, 60, 75U 351 TWETH FAYG ( FHo Wo Yo ) ¥
(A) 2700 (B) 6300
(C) 4250 (D) 2750.

103. Five persons paint a nouse in 3 aays when they work 8 hours everyday. Then if one
person works 4 nours everyday, how much time ( day ) will he take to complete the

same work ?

30 B)

© (D)

S

o,

TH THM & g 506, 8+ U & = 3 # &w ¥ & 1 =fw, 4o 9 wm o
I W H fwed faq F wm ?

@ 30 ®
© ¢ o 5
(R 101 [ PTO.
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L1 72 a]

104. The marks obtained in 4 subjects in an examination are 200. If the average of marks
obtained in 3 subjects is 48, then how many marks are obtained in fourth subject ?

A) 50 B] 144

© 152 \_/rm/;a.

TF wiien § =R fawdl § ww F@ s 200 ¢ 1 oz @4 fawdl F g o @ ofwa 48 ® @ <ig

foga § wm 3w ¥
(A 50 B 144
(@] 152 (D) 56.

105. A person sold a cycle at Rs. 935 with a gain of 10% then at how much amount did he

purchase the cycle ?

(A) Rs. 945 B8~ Rs. 850

(C) Rs. 925 (D) Rs. 1,085.

T =% A TS GiEfFd 935%o H _[0% oY T ast dl 364 a |sfee fhod o § @€ & ?
AT 94570 B)  850%o

C) 925%0 (D)  1.085 %o |

106. A person took'some loan irom a bank at the rate of 15% annual interest. If he pays

back Rs. 7,250 after 3 years then what is the amount of loan ?

M 5.000 B  Rs. 4,500

(C) Rs. 6,500 (D)  Rs. 5,600.

TF = A AF | FO T 150% AfeF e w X @ IuR faan | 3R A 9 918 9% 7,250 To
aifq| e €, d 39 foFa Tea U foran o1 ?

{A) 5,000 %¢ (B) 4,500 %o

(C) 6.,500%° D) 5,500 %0 |

UL 101
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73 L-1
107. What is the interest on Rs. 500 for six months with a rate of interest 8% calculated six
monthly ?
A) Rs. 20 (B) Rs. 30

{© Rs. 48 \ﬂm.

500 %o F 6 HE F1 8% ® THIE] & | =S W
(A) 20 %o (B) 30 %o
[C}) 48%¢ (D) 40%e

108. A person X sells an article of Rs. 100 with a loss of 10% t6 the person Y. Y sells it at a
gain of 10% to another person Z. What is the price at which Y sold the article to Z?

(A) Rs. 100 _BTRs. 99
(© Rs. 110 D) Rs. 101.

T =S X, 100%F S A F, J0% T A AT Yy M a=wmE 1 v, AT F 10%
Y F FHE zR AR M E, A e [ Rag Z2 B 9= 2

(A 100%e (B) 99%o
(C) 110 %o (D) 101 %o |
109. Which is a plane in the following ?
L/@d"' Paper sheet (B) Glass
(€ Bal (D)  Cylinder.

et el # | FA-W T ¥ 2

(A) wr B) fremm
(cy g (D) &
(AR 101 | PT.O.
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L1 74 [E

110. Which of the following statements is not true ?
{A)  The figure formed by two rays passing through a point is called an angle
(B) A closed figure formed by three line segments is called a triangle

L/(C‘]/‘ A figure formed by three lines is called a trlangle

(D) In a rectangle the length of opposite sides is same and each angle is a right

angle.

1 5 | B s o 2

) o o fag @ oA A @ e § @ st F o wed ¥

B) Tt = TErave @ il € 9 9 i Gyewe ¥

(C) foel o= vl & fadt sTFfa 1 e ed

(D) 3Tad ®i AHA-FEA & YK ) TR GHA gl & a6 Tl 0 THH E |
111. Which of the following is true for a“triangle ?

(A} All the angles are-always acute angle

(B) One angle is always a right angle

{C)  One angle is always an obtuse angle
L4():1(3 angle is always an acute angle.

fFR At asR-mFAIE e ?

(A) EEE HI HE A FED E

(B) UF HW 3 FIHT N ¥

(C) TuF FI Ada AfuF S0 g

(D) TH FI0 WA FA F A E |
T
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E 75 L-1

112. How many triangles are there in the following figure ?

\}1/5. | 4

€ 3 (D) 6.

i Fert & foperd g 8 2

\
~
L

4 b5 (B) 4
c 3 D) 8.

113. The sum of all interior angles of a square is

@ 180° @B 360°

) 270° (D)  none of these,
=t & =9 FA=E R A e @

@ 180° B  360°

) 270° D) 79 4w 78

(LT [ P.T.O.
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L-1 76 @

114. Which of the following statements is correct ?
\/W/A square is a particular type of rectangle

(B) A rectangle is a particular type of square
[C} Every ray is a line segment
(D) Straight angle is of 90°.
frAddgh-wsFRaat ?
() i T fadw yor = o e &
B) oad T fade yEn w1 Al g
€ ¥ feo o r@rave i @
(D) 9 / WA SI9 w1 G 90° BRI

115. One has to run 250 metres to take one round of a ground. A girl has run
75000 centimetres. Then how many rounds has she taken and how many rounds

more will she have totake in order to complete a run of 3 kilometres ?

t)"’/ 3,9 B 30, 90

(@ 3,90 (D) 30, 9.

et #em =1 U St WA ¥ 250 T e vem ¥ 1 TF gt 75000 9t S gwi ® 1 9w
fora It @R 3R 3 Rt 9t s @ 9 & fou 3% it fFe w9 A w2

A 3.9 (B) 30, 90

€ 3,90 (D) 30, 9.

(LT 101
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@ 77 L1

116. On subtracting 8 metric tonne ( mt } 50 kilogram from 12 metric tonne 8 quintals we

get
(A) 3 mt 8 quintal W4 mt 7 quintal 50 kg

(C) 4 mt 8 quintal 50 kg (D) 3 mt 8 quintal 50 gm,

12 #ifzs =7 g faa=e 4 A g Hifes =7 50 e wer W wm & ¥

() 3tifzw = 8 fwew (B) 4ifgw 27 7 e 50 fFel oW

(C) 4vifzw 27 gfedza 50 e 7m (D) 3ifgs =7 gfadew 50 fFe oM |

117. A tank has 400 litre water. If 12 litre 500 ml water is used from it and the remaining

water is filled in 25 cans of same capacity, then what'is the capacity of each can ?
(A) 12 1t 500 ml (B) 13 1t 500 ml

\_Ier 15 1t 500 ml (D) 14 1t 500 ml.

TH TH Y 400 Al € 1 zEE 9 12°W2e-500 fieieier TH w1 H 99 & = v U =
O wua F 25 fesl § wu o @ 92T fe # ama ¥

(A) 127%t 500 fet (B) 13t 500 faet
(€ 15% 500 faeft (D) 14t 500fu= |

118. Which of the following statements is incorrect for the time taken by big hand of a
clock to reach from one digit to exactly next digit ?

A) 5 min (B) 300 sec

l (-JD’/
12 hour one hour.

et wE g F e o A A oA o T T § 9 T T ¥ foe e A @ S

€

AT R ?
Ay s5fre (B) 300%F=
(€ '1'15“27 (D) U Hel |
(LN 101 [ P.T.O.
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L1 78 Aa]

119. The length and breadth of a rectangular field is 60 m and 40 m respectively. If on the
outer of its four sides the grass of 5 metre width is planted, then the area of grass

planted field is
(A) 1100m (B) 525 sq.m

\_}\/1 100 sq.m (D) 525 m.

TF STaahR 39F &) oEn 60 ot awn =g 40 H ¥ ) 3w 9 @R wed ww 51t e A
U T W o e S A 9TE 1 S g

(A 1100 (B) 52597
(© 1100% @t (D) 5251 |

120. A rectangular photo frame X is of 90 cm.length and 70 em width and a square frame Y

is of side 80 cm. Then which of the following is correct ?

(A}  Perimeter of frame X is 6300/'sq.cm

(B) Perimeter of frame Yis 6400 sq.cm

(C) Perimeter of beth X and Y frames is same and is equal to 320 sq.cm.

\Mneta‘ of both X and Y frames is equal to 320 cm.

TF HEaER 9 & W0 X F) @=E 90 Wt ayn de® 70 % ¥ it Uw aniew WA YE =
8ot A f i AR mFH w & ?

() WU X T ST 6300 71 AR €W
(B) %W Y = 999 6400 I { g
() <N HEl X AW v & 9fiAg SwEt @ 320 97 wE e

(D) S Wl X @ Y 9REY 320 AW F aUE € |
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|enelone Qoll- EVS— Keetgoll - &
[a] 79 L1

SECTION - V
g - vV
ENVIRONMENTAL STUDIES
qaieRoT areaT

There are 30 questions in all in this section.
All questions are compulsory.
FHEE H FE 30TH T |
[t v sifEd €

121. Nuclear family refers to

(A)  any family born after 1950
y/famﬂy includes parents and their childrer

{C)  entire family including children, their parents and grandparents
(D) only husband and wife.
e WER | aed #
(A) ¥ 1950 F =2 T 4ER
(B) dRER faed amE-fom @ 39 ==
() ol wftar faad o=, I9% Arar-fuar ud gEr-gEt
(D) Fad 9fa-vet

122. Tobacco addiction is due to

(A) Cocaine (B) Calffeine

l)g/ Nicotine (D)  Histamine.

TE & Hied forw ® w2
(A wrEHA B F®HA
(© feifea D) e

LT 101 [ PT.0.
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L1 80

123. What are the minimum ages for marriage of boys and girls in India ?
\,Pd/ 2] years and 18 years
(B} 18 years and 21 years
[C) 18 years and 18 years
(D) 18 years and 16 years.
a § g 9 wefwal %1 faae 4y 7y o @ § 7
(A 21947 1894
(B) 18943 21394
© 18=dg 187
(D) 1874 d 16a4 |
124. Main occupation of people of Rajasthian is
(A mining (B  bakery
(C)  poultry farming (D)  agriculture.
TSR & il [ AW T
A @™ B) R
© it ‘)pj/ |
125. Which of the following places of Rajasthan does not have sugar factory ?
() Keshoraipatan \/[Bl/‘ Nimbahera
(C) Udaipur (D)  Bhoopal Sagar.

o § frm § | frw R W v 990 1 SREE 6§ 2

@ ® e
© 3= (D) Y9 H |
(TN 101
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(a] 81 L1

126. In case of fraud or unfair business behaviour, we should lodge a complaint at
L}Q/‘Consumer Protection Forum
(B} District headquarters
(C) Tehsil
(D}  Gram Panchayat.
3t 1 Ffua SAE EeR T W T frwmaa s @ifey
(A) U GO HE W
(B oo qee &t
(©) e w
(D) 7 9= #
127. How many members of Rajya Sabha are niominated by the President ?
y 12 (B) 18
() 20 o) 22,
gt g oema A TR wes wAe g E 2
A 12 (B) 18
20 (D) 22.

128. District industry centre provides employment to urban and rural youths under a

scheme known as

{A)  Prime Minister's Gramin Sadak Yojana
\_’LB)/Prime Minister's Rojgar Yojana

(C) Jawahar Gram Samriddhi Yojana

(D) Swarna Jayanti Gram Swarojgar Yojana.

(LT 101 [ PT.O.
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L1 82 [I]

foren seim &= firm o & aga vt ud Ui gewt ) A gEar e & 2
(A)  vuEEst T g g
B WUEES AR D
(© T A wYhE A
(D) ol st o SR e |
129. Which country has the maximum number of tube-wells in the world ?
(A)  America (B) Australia
(C) China |/I97/' India.
AR ¥ Hferon ogaa frmdm g ¥ 2
W e (B smRfEm
(© =M (D} wHd |
130. The Gangaur festival is celebrated on

\/W/Chajtra Shukla Teej
(B) Shravan Shukla Teej
(C)  BhadrapadaKrishnapaksha Ashtami
(D)  Chaitra Shukla Navamni.
TR &1 e 71 9§
(A) = I de w
(B) A Y T B
(C) YEYR FOME FEH H
(D) = Y& T H |

[T 101
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83 L1
131. City of Lakes in Rajasthan is
(A} Jaipur {(B) Jodhpur
\}J/ Udaipur (D)  Ajmer.
oA # el w TR €
A A (B) WIHR
(€ IR (D) ST

132. Who built the Vijay Stambha ( Tower of Victory ) ?
M&harana Kumbha (B Maharana Sanga
(C) Maharana Pratap D) Maharaja Jaisingh.
foer = fope samn ?
() TERTON FI B) HEWm "M
(C)  WERVN Warg (D) wETT wafeE |

133. Following traffic sign indicates :

(A} Major road (B) Pedestrian crossing

(C) Railway crossing \_/(-B)/Narrow bridge.
(HEREL 101 | P.T.O.

This paper is downloaded from www.rsnotes.com

New Section 1 Page 50



Previous Papers, Old Papers, Sample Papers, Mock Test, Online Papers, Online Test, of HTET, RTET, REET, PSTET, UPTET, KTET, HPTET, GTET, TLTET,

L1 84

Tr=ifera v Heha &1 1Y
(A T=HSH (B) e gy
€)Y wifam (D)  w= e |

134. Full form of ATM is
Vd/Automated Teller Machine
(B) All Time Money
(C) Automated Transfer Machine
(D)  Audit Teller Machine.
E 1 90w @
(a) afemdeE e w9
(B) &Hia W wA
© FRrATE Ziww Wi
(D) 3fifee ) wetA |
L 101
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[a] 85 L1

135. Message sent by computer is known as
(A) SMS (B) FAX
Mmaﬂ (D)  Telegram.
FIG & AEAH ¥ 9 T ATl GV A e €
(A THTHTH B FH=
© 3= (D) e
136. Carrier of Dengue disease is
Mﬁde& mosquito (B)/Culex mosquito
(C) Housefly (D)  Anopheles mosquito.
EVRUETE CER
(A T T ey i T
(C) e wwEl (D) uATwfas 7=t
137. The biochemical laboratory of human body is
(A} stomach W liver
(C) intestine (D) kidney.
T & YRR &1 Sa-TEate garmmen ¥
(a) I B) T

() o1= (D) T |

I 101 [ P.T.O.

This paper is downloaded from www.rsnotes.com

New Section 1 Page 52



Previous Papers, Old Papers, Sample Papers, Mock Test, Online Papers, Online Test, of HTET, RTET, REET, PSTET, UPTET, KTET, HPTET, GTET, TLTET,

L-1 86 [a]

138. Aim of Pulse Polio programme is
(A}  treatment of Polio
(B)  stop paralytic effect of Polio

\)9)/‘ complete eradication of Polio

(D) all of these.
veu iferdl FRiwA H IEvd ¥
() e w1 I9ER
(B) Hiferdr @ e wrAT F AEA
(€ wifersr &1 weqol 3=
D) THFEA

139. Kashmiri Gown is known as

\/w/ Firan (B)  Angrakhi

(C) Bugtari (D)  Achkan.
FYE =M Fwera €

@ fEE B Tl
(©) TR (D) /=% |

140. Habitat of Dog fish is

(4)  River (B Pond
(C) Lake (D)~ Sea.
1 T &1 2 ¥

@ & (B) TS
© # D) w9 1

I (101
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[&] 87 L1

141, Full form of CNG is
A Commeon National Gas
‘)Bl/C;impressed Natural Gas
(C) Common Natural Gas

(D)  Certified Natural Gas.

TSt #1 qu w9 &

(A)  FEA T
(B) O Ig@
© A e T

(D) wfEwEs @ |

142, wildlife Week is celebrated on
‘,m)/ls: October to 7th October
(B) 15th October ta 21st October
(C) 1st Junéto 7th June
D) 15th June to 21st June.
3 9 WETE HAl W €
@) 1 AR A 7 FRH TH
(B) 153 F 21 TRKHN a6
© 1SFA7[FH

(D) 15SAH 215FdH |
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143. State tree, state bird and state animal of Rajasthan State are
L/lat/ Khejari, Godawan, Chinkara
(B)  Khejari, Peacock, Tiger
(C) Babool, Godawan, Lion
(D} Mango, Peacock, Tiger.
T T4 & 799 g4, To9 UEl qu 759 I mE
@ EE, e, few
(B) @S, W, @™
(© @99, TremEw, IR
(D) oW, °R, &9 |
144. In which state of matter, the distance between the molecules is minimum ?
I/w/' Solid (B) Liquid
(C) Gas (D)  Plasma.
werd F1 g smen ¥ sve F wem F g gAaw g ¥ 2
w 3w B @
© = (D) I
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145, Which state is known as ‘Tiger State’ ?
(A)  Rajasthan (B)  West Bengal
(C) Gujarat \_/(-B‘l/- Madhya Pradesh.
FH-T T TR R F AW R AW ¥ ?
@& T (B) feam e
(© TmE (D) wW WY |
146. Which of the following has maximum speed ?
{A)  Air (B) Water Current
(©  Sound VLT Light.
Frefafaa 4 faas 3 sifyswar & 2
B  Ea (B) <@g
(© = (D) wF |
147. Which energy is converted into electrical energy by a solar cell ?
(A) Chemical energy B) Nuclear energy
I}[J/' Solar energy (D)  Magnetic energy.
i ¥ g e oot =1 fage o § agen o wFm & 2
(A TEEGE S (B) iR =
(€) W Fa (D) T=E FA |
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148. Maximum amount of gas found in air is

{A)  oxygen (B)  carbon dioxide
(C} hydrogen \_,(Bi/nltrogen .

T § waifys A o aedt o areft fw @

W e (B FEA STEATFES
© EERgEA (D) IS

149. Renewable source of energy is

&) Coal {B)__“~Petroleum
LMIants (D). Uranium.

Fet F1 ARG H ®

W FrEen B e

© 9 D)  gFmEeE |

150. Ozone layer is found in

(A)  Thermosphere UBI™ Stratosphere
(C) Troposphere (D) Mesosphere.
e A faed &

(A  wrfeREE %@ﬁ@m H
© grirewR (D) foasredR §
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